

Dividing Fractions

Name: _____ Score: _____

Divide and express your answers in the lowest possible terms

$$-\frac{1}{4} \div -4 =$$

$$-\frac{1}{2} \div 2 =$$

$$-\frac{1}{3} \div 4 =$$

$$\frac{4}{6} \div -3 =$$

$$-\frac{4}{6} \div -3 =$$

$$\frac{3}{4} \div -4 =$$

$$-\frac{1}{2} \div 4 =$$

$$-\frac{1}{2} \div -4 =$$

$$-\frac{2}{3} \div -5 =$$

$$-\frac{1}{9} \div -7 =$$

$$-\frac{2}{9} \div 3 =$$

$$-\frac{3}{3} \div 6 =$$

$$\frac{5}{6} \div -6 =$$

$$-\frac{3}{5} \div -8 =$$

$$\frac{1}{5} \div -7 =$$

$$-\frac{1}{6} \div 8 =$$

$$\frac{1}{7} \div -6 =$$

$$-\frac{1}{3} \div 3 =$$

$$-\frac{4}{9} \div -4 =$$

$$-\frac{1}{3} \div 2 =$$

$$-\frac{1}{5} \div -3 =$$

$$-\frac{3}{5} \div -2 =$$

$$-\frac{9}{2} \div -5 =$$

$$\frac{5}{8} \div -9 =$$

$$\frac{3}{4} \div -4 =$$

$$-\frac{4}{5} \div 4 =$$

$$-\frac{2}{3} \div 6 =$$

$$-\frac{5}{3} \div 3 =$$

$$\frac{1}{9} \div -3 =$$

$$-\frac{6}{7} \div -2 =$$

Answers

Divide and express your answers in the lowest possible terms

$$-\frac{1}{4} \div -4 = \frac{1}{16}$$

$$-\frac{1}{2} \div 2 = -\frac{1}{4}$$

$$-\frac{1}{3} \div 4 = -\frac{1}{12}$$

$$\frac{4}{6} \div -3 = -\frac{2}{9}$$

$$-\frac{4}{6} \div -3 = \frac{2}{9}$$

$$\frac{3}{4} \div -4 = -\frac{3}{16}$$

$$-\frac{1}{2} \div 4 = -\frac{1}{8}$$

$$-\frac{1}{2} \div -4 = \frac{1}{8}$$

$$-\frac{2}{3} \div -5 = \frac{2}{15}$$

$$-\frac{1}{9} \div -7 = \frac{1}{63}$$

$$-\frac{2}{9} \div 3 = -\frac{2}{27}$$

$$-\frac{3}{3} \div 6 = -\frac{1}{6}$$

$$\frac{5}{6} \div -6 = -\frac{5}{36}$$

$$-\frac{3}{5} \div -8 = \frac{3}{40}$$

$$\frac{1}{5} \div -7 = -\frac{1}{35}$$

$$-\frac{1}{6} \div 8 = -\frac{1}{48}$$

$$\frac{1}{7} \div -6 = -\frac{1}{42}$$

$$-\frac{1}{3} \div 3 = -\frac{1}{9}$$

$$-\frac{4}{9} \div -4 = \frac{1}{9}$$

$$-\frac{1}{3} \div 2 = -\frac{1}{6}$$

$$-\frac{1}{5} \div -3 = \frac{1}{15}$$

$$-\frac{3}{5} \div -2 = \frac{3}{10}$$

$$-\frac{9}{2} \div -5 = \frac{9}{10}$$

$$\frac{5}{8} \div -9 = -\frac{5}{72}$$

$$\frac{3}{4} \div -4 = -\frac{3}{16}$$

$$-\frac{4}{5} \div 4 = -\frac{1}{5}$$

$$-\frac{2}{3} \div 6 = -\frac{1}{9}$$

$$-\frac{5}{3} \div 3 = -\frac{5}{9}$$

$$\frac{1}{9} \div -3 = -\frac{1}{27}$$

$$-\frac{6}{7} \div -2 = \frac{3}{7}$$